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	Week 5 – Day 5

	1,600 ÷ 40 =
76 x 45 =
              = 7/9 x 3
1/6 of 36 =
10% of 6,400 =
               = 6,000 + 90
                    + 5 = 382 
	2,100 ÷ 70 =
768 x 45 =
                  = 4/5 ÷ 8
4/6 of 36 =
20% x 6,400 =
               = 5,000 + 30
                     + 8 = 431 
	6,400 ÷ 800 =
7,683 x 45 =
                    = 4/6 x 5
1/5 of 550 =
40% of 6,400 =
               = 9,000 + 4
              + 11 = 9,482 
	               = 4,800 ÷ 8
7,683 x 452 =
                   = 2/3 ÷ 6
2/5 of 550 =
60% of 6,400 =
               = 12,000 + 3
                    + 7 = 901 
	              = 810,000 ÷ 900
7,683 x 4,522 =
¾ x 12 =
4/5 of 550 =
90% of 6,400 =
             = 2,000 + 400 + 90
                + 9 = 1,004 
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